

NEWTON'S METHOD → approximates zeros of a function

Algorithm: Let f be a differentiable function. Choose a point x_1 near a root of f . Define recursively

$$x_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}$$

→ original function
→ derivative

If the point x_1 is chosen sufficiently close to the root then the x_n 's are successively better approximations of the root.

Nov 12-11:18 AM

Steps: Make an initial estimate x_1 that is close to root
Determine a new approximation using the formula above
Go until the sequence converges

Ex1) Calculate three iterations of Newton's method to approximate a zero of $f(x) = x^2 - 2$ start at $x=1$

$f'(x) = 2x$

Solve $x^2 - 2 = 0$
 $x = \pm\sqrt{2}$

1st: $1 - \frac{f(1)}{f'(1)} = 1 - \frac{-1}{2} = \frac{3}{2} = 1.5$ (1, 1.5)

2nd: $\frac{3}{2} - \frac{f(\frac{3}{2})}{f'(\frac{3}{2})} = \frac{3}{2} - \frac{(\frac{3}{2})^2 - 2}{2(\frac{3}{2})} = 1.5, \frac{17}{12}$

3rd: $\frac{17}{12} - \frac{f(\frac{17}{12})}{f'(\frac{17}{12})} = 1.414215686$ (1.5, 1.414215686)

actual: calc: 1.414213562

$f(1.414213562) \approx 0$

Nov 12-11:18 AM

Ex2) Use Newton's method to approximate the zeros of $f(x) = 2x^3 + x^2 - x + 1$ first 2

Let $x = -1.2$

$f'(x) = 6x^2 + 2x - 1$

1st: $-1.2 - \frac{f(-1.2)}{f'(-1.2)} = (-1.2, -1.23511504)$

2nd: -1.233754022 (-1.23511504, -1.233754022)

(calculator does for Newton method)

$y_1 \rightarrow$ enter original
 $y_2 \rightarrow$ derivative
 $y_3 \rightarrow y_1 / y_2$

$x = -1.233752$ (if 0)

Nov 12-11:19 AM

Ex3) The function $f(x) = x^{1/3}$ is not differentiable at $x=0$. Show that Newton's method fails to converge using $x_1 = 1$

$f(x) = x^{1/3}$

1st: $1 - \frac{f(1)}{f'(1)} = -1.999999993$

2nd: $-1.999999993 - \frac{f(-1.999999993)}{f'(-1.999999993)} = .397861107$

Never converges

Nov 12-11:19 AM

Apply Newton's method to approximate the x-values of the indicated point(s) of intersection of the two graphs. Continue until two successive approximations differ by less than .001

$f(x) = 2x+1$
 $g(x) = \sqrt{x+4}$

$2x+1 = \sqrt{x+4}$
 $2x+1 - \sqrt{x+4} = 0$

$h(x) = 2x+1 - \sqrt{x+4}$
 $h'(x) = 2 - \frac{1}{2\sqrt{x+4}}$

1st: $.7 - \frac{h(.7)}{h'(.7)} = .5628504785$ (.7, .5628504785)

2nd: $.5628504785 - \frac{h(.5628504785)}{h'(.5628504785)} = .5628504785$ (.5628504785, .5628504785)

Solution: (.5628504785, .5628504785)

Ans to question

Nov 12-11:19 AM

Consider the function $f(x) = x^3 - 3x^2 + 3$

a) Use Newton methods with $x_1 = 1$ as an initial guess.

b) Repeat part b using $x_1 = 1/4$ as the initial guess and observe that the result is different

1st: $x = 1$
 $x - \frac{f(x)}{f'(x)} = 1$

2nd: $1 - \frac{f(1)}{f'(1)} = 1$

3rd: $1 - \frac{f(1)}{f'(1)} = 1$

4th: $1 - \frac{f(1)}{f'(1)} = 1$

5th: $1 - \frac{f(1)}{f'(1)} = 1$

6th: $1 - \frac{f(1)}{f'(1)} = 1$

7th: $1 - \frac{f(1)}{f'(1)} = 1$

8th: $1 - \frac{f(1)}{f'(1)} = 1$

9th: $1 - \frac{f(1)}{f'(1)} = 1$

10th: $1 - \frac{f(1)}{f'(1)} = 1$

Nov 12-11:19 AM